SIMPLIFIER

A= a+ ?xb - Fx(axb - ©<7) + 6

A =120 + 7b - #(ab - 10) + 6

REDUIRE

B =Uxi- 5+ Zxy - y+ 3x2(+ 2 - 3x + 3y + x*

B=3%2+%2+Ux -3x+7xy-y+3y-5+2

Attention : on travaille “bloc par bloc” : on ne B=Ux2+Xx+7xy +2y-3

a, n

touche ni aux parenthéses, ni aux “+", ni aux

DEVELOPPER / DISTRIBUER

Distributivité “simple” :

C =4(3t - 5)

C=Wt x3t - xS
C = 12¢2 - 20t

Distributivité “double” :

D= (5m - E)3 + 2m)

D= x3 + x2m - x 3 -
D=15m + 10m2 - 18 - 12m
D=10m2 + 3m - 18

x 2m

W)y, Rappel : +y = +1y
w .‘@2 / -y = -1y
FACTORISER
E=5e-5

Calcul littéral

( \E= e- "1

= (e - 1)
F=12f + 16

= 3x.f + u
F="3f +4)

G =992 -69+3
G=8 g-2  + 1
G="(39-2+1)

G = 39(39 - 1)



